Rezerves dalu shéma
Cxema sanyacTeit

KEDES ZAGIS
MANA LEMHASA

TYP KZ3-350/400

Ersatzteile KETTENSAGE
Diagram of Spare Parts ~ CHAIN SAW Stand issue 10.2009

Poz.Nr. Detalas Sifrs Nosaukums Poz.Nr. Detalas Sifrs Nosaukums Skaits

N°no3. LWncpp petanun HaumveHoBaHue N°nos. [Lincpp petann HaumeHoBaHue Kon-so

Positiony Bestell- Nr. Benennung Positiorn Bestell- Nr. Benennung Stiick

Pos. Part number Name . Pos. Part number Name Qty.
1 4x16 SPEZ17zn Skruve (BuHt) 2 50 |KZ3-400.02.00.01 Reduktora korpuss (Kopnyc penykropa) 1
2 | KZ3-400.00.00.09 Elektropiedzinas vaks (Kpbllika anektpoasuratens) 1 53 |370-KG-M Izvads / balts HFHDOBOHHI/IK/ enblif) 1
3 |4,8VZ M4x25 DIN84 Skruve (BuHT) 4 54 1370-KG-m Izvads /zal$ (TIpoBOAHWK / 3eneHbli) 1
4 | VZ/B4 DIN127zn Paplaksne (LLaii6a 4 56 [5x60 SPEZ16zn Skruve (BuHT 1
5 | VZ4,3 DIN125 Paplaksne (LLaii6a 4 57 [4.8VZ M4x8 DIN84 Skruve (BuHT 1
6 |RZ1-70.01.00.07-01 Korpuss (Kopryc) 1 58 |[KZ1-300.09.20.03 Bukse (Brynka) 1
8 |IE-5107H.01.02.00 Stators (Cratop) 1 59 |KZ3-400.07.00.00 Rokturis Kopsalikuma (Py4ka B c6ope) 1
9 | CR-00.00.01-16 Caurule (Tpy0ka) 2 60 |6x30 SPEZ17zn Skrave (BuHT) 2
10 | RZ1-70.01.00.06 Diafragma (Quacparma) 1 61 |KZ3-400.00.00.06 Bremzu svira (Pbiyar Topmosa ) . 1
11 201-2Z Gultnis (MoawunHuk) 1 62 |KZ3-400.00.00.01-K Kreisais puskorpuss (Ionykopnyc nesbiii) 1
12 | KZ3-400.01.00.00 Enkurs (fAkopb) 1 63 [KZ3-400.05.00.00 BaroSanas kabelis (LHyp nutaxma) 1
13 | KZ3-400.03.01.00 BremZu lente kopsalikuma (Jlexta Topmo3Han B c6ope)| 1 64 |KZ1-300.00.00.15 Apskava (Ckoba 1
14 | KZ3-400.00.00.11 Starplika (Mpoknamka) 1 65 |RZ1-70.00.00.43 Aizsarguzmava TRyﬁka sawurtHas) | 1
15 | ST 3.2 DIN6799 Paplaksne (lLlaii6a 1 66 |PRB 2000/220-04KZ-K Elektroniskais bloks (Bnok 3nekTpoHHbIii) 1
16 | VZ4.3 DIN125 Paplaksne (LLaii6a 4 68 |KZ1-300.08.00.06 Uzmava (Btynka) 1
17 | VZ/B4 DIN127 zn Paplaksne (LLaii6a 4 69 |KZ3-400.03.00.06 Turetajs (Nepxarenn 1
18 | 4.8VZ M4x12 DIN84 Skrave (BuHt 4 70 16201-2Z G3 Gultnis (IToAWwMNHMK . 1
19 [4.8VZ M3x8 DIN84 Skruve (BuHT) 2 72 |KZ1-300.08.00.01 Ellas tvertne (bak macnaHblii) 1
20 | VZ/B3 DIN127 zn Paplaksne (LUai6a) 2 73 |KZ1-300.08.00.03 Gredzens (KombLo) 1
21 | LSM2-230.01.03.00 Suka (LLleTka) 2 74 |KZ1-300.08.00.04 Filtrs (Punbtp) 1
22 | 5x45 SPEZ 16zn Skrive (BuHT) 1 75 |KZ1-300.08.00.02 Nipelis (Hunnens) 1
23 | KZ1-300.00.09.00 Vacind salikuma (Kpblwka B c60pe) 1 76 |KZ1-300.08.00.05 Caurule (Tpy6ka) . 1
24 | KZ3-400.03.02.02 Svira (Pblvar) 1 77 |KZ3-300.03.00.01 Starpvairogs (LLInT npomexxyTouHblii) 1
25 | KZ3-400.03.02.01 Distancbukse (Btynka guctaHumoHHas) 1 78 14x20 SPEZ16zn Skruve (BuHT) 3
26 | KZ3-400.03.00.04 Ass (Ocb) . 2 79 [608-2RS1/C3 HT Gultnis (MopwunHuk) 1
27 | KZ3-400.03.02.03 Vilcejstienis (Tara) 1 80 |KZ3-400.02.10.00 Darbavarpsta kopsalikuma (LLinuHpoens 8 cGope) 1
28 | IE-5708-0130-001 Sukas turetdjs (LLleTkonepxarens) 2 81 |IE-5709.00.00.12-01 Paplaksne (LLlanoa) 1
29 | 8VZ M4 DIN934 Uzgrieznis HFaMKa) 2 82 180202 C3 GOST7242 Gultnis (MoawmnnHuK) 1
30 |IE-5708-0130-002 Ass (Ocb 2 83 [VZ4,3 DIN125 Paplaksne (LLlaii6a 4
31 | IE-5708-0130-003 Atspere g pYXUHa) 2 84 |vz/B4 DIN127 zn Paplaksne (LLlaii6a 4
32 | B6x1.0x25 DIN7340 Kniede (3aknenka) 1 85 |4,8VZ M4x20 DIN84 Skrave (BuHT 4
33 | KZ3-400.03.00.03 Ekscentrs (SKCUEHTPUK) 1 91 [4x20 SPEZ16zn Skruve (BuHT . 7
34 | B5x0.75x50 DIN7340 Kniede (3aknenka) 1 92 |KZ3-400.00.00.02-K Labais puskorpuss (Monykopnyc npasblii) 1
35 |4x13 SPEZ 16zn Skruve (BuHT) _ 1 93 |KZ3-400.00.00.07 Zobu balsts (Ynop KOFTGBOVS 1
36 |[ST 3.2 DIN6799 Paplaksne (LLlaii6a 4 94 |KZ3-400.00.00.05 DzenoSais keZrats (3se3nouka Benywan) 1
37 | KZ1-300.00.03.08-01 Atspere (Mpyxuua) =~ 1 95 |11 892 OREGON Mainamais vainags (CMeHHblii BEHELL) 1
38 | KZ1-300.03.03.00 Bremzu svira kopsalikuma (Pbluaru B c6ope) 1 96 |KZ1-300.00.00.09B Atloks (PnaHeu) 1
39 [ RN-3x9,8 B DIN5402 Veltnitis (Ponuk) 1 97 |[IE-5708B-0700-005 Gredzens (Komnbuo 1
40 [HY5 Mikroslédzis (Mukponepeksioyarens) 1 98 |VZ/B5 DIN127 zn Paplaksne (LLlaiiba 1
41 | 1E-1036.01.00.14 Kompensators (KomneHcarop) 1 99 14,8VZ M5x18 DIN84 Skrtive (BuHT) 2
42 | 4.8VZ M4x10 DIN84 Skruve (BuHT 2 100 |KZ1-300.09.20.01 Plaksne (ITnactuHa) 1
43 | VZ4.3 DIN125 Paplaksne (Lai6a) 1 101 [158SLBK095 OREGON Sliede (LluHa) 1
44 | B5x0.75x25 DIN7340 Kniede éSaKnenKa) 1 102 |21LP64E OREGON Kede (Llenb) . 1
45 | KZ3-400.03.00.05 Piespiednis (Mpuknm) 1 103 |KZ1-300.00.00.20 Aizsargapvalks (Koxyx 3awuTHbIl) 1
46 | KZ1-300.00.03.11 Atbalsts (\{noEI . 1 104 [IE-5107.0200.008 Kompensators (Komnexcarop) 1
47 | KZ1-300.04.03.00C Ellas suknis (Hacoc macnaHbiii) 1 105 [VZ3,2 DIN125 Paplaksne (LLlain6a) 2
48 | KZ1-300.04.03.04-01 Gredzens (Btynka) 1 106 |KZ1-300.09.00.00 Apvalks kopsalikuma (Koxyx B cOope) 1
49 [10.8 M8x35 DIN933 Bultskrive (Bonr) 1

Uzmanibu! Remontdarbus, izmainu ievieSanu un rokas elekirisko instrumentu
izmeginaSanu veiciet vaj adz%ga tehniska imeni, ieverojiet droSibas_tehnikas

prasibas atbilstosi DIN, GOST un citiem atseviskas valstis speka esoSiem nor-

mativiem dokumentiem.

Paturam sev tiesibas ienest izmainas. Musu razojumi tiek pastavigi pilnvei-
doti atbilstoSi musdienu tehnikas attistibas limena prasibam. Tapec mes pat-

uram sev tiesibas ienest izmainas.

NpaBo Ha BHECEHE N3MEHEHNN.

BHimatme! PeMOHTHbIE paOThl, BHECEHNUE W3MEHEHWid U1 WCTbITaHVe PyuHbIX
3NEKTPOUHCTPYMEHTOB BLINONHAWTE HA MOMKHOM  TEXHUECKOM
cobnionaiite TpeboBaHua no Textuke GesonactocT cornacto DIN,
[IpyriX, NEMCTBYIOLIMX B OTAENbHbIX CTPAHAX HOPMATUBHbIX OKYMEHTOB.
Haln u3nennA MOCTOAHHO NPWBOMATCA B COOTBETCTBUE C TPEOOBAHWAMM
COBPEMEHHOT0 YPOBHA Pa3BUTUA TeXHUK. [103TOMY Mbl OCTaBnAeM 3a co6Oil

Beachten: Instandsetzung, Anderungen und Priifung von handgefiihrten
Elektrowerkzeugen sind  fachgerecht
Sicherheitsvorschriften nach DIN, GOST und weitere in den
einzelnenLé&ndern giiltige Vorschriften sind einzuhalten.

Anderungen vorbehalten. Unsere Erzeugnisse werden stets dem heutigen
technischen Stand angepaBt. Deshalb behalten wir uns Anderungen vor.

durchzufihren. Die

Attention! Power tools repair, modification and testing must be carried out
according to the generally recognized engineering practice. Safety notes in
accordance with DIN, CINN and other regulations applicable in ‘individual
countries must be observed. B

Modifications reserved. Our products are constantly modified to meet the
requirements of modern technical standards, therefore we reserve the right
to alter data and specifications.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


